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Instructions to candidate: This Question paper consists of three

sections - A, B and C.

- SECTION - A , . (10 X 2 = 20)

I. Very short answer type questions:

(i Answer all questions.

Share your question papers at

(i) Each question carries two marks. " tajsquestionbank@gmail.com

1. Find the square root of (—5 + 12i). |

2 Bz = -1,8, =1 thén find Arg (z,. z,). ~

5. simpity (G )

4. Ifx?-6x % .5 = 0 and x? —3ax + 35 = 0 have a common root, then find a;

| 5.- If 1, 1, 0. are the roots of x> —6x* + 9x =4 = 0 then find a.. .

6. 1f P, +5. "P,="P findr. _

7. Ifrc, =rc thenfind ®c. -

8. Write down and simplify the 7% term in (3x — 4y)'°.

9. Find the mean deviation fI*Ol’I.l fhe mean of the following discrete data.
6,7, 10, 12, 13, 4, 12, 16. _

10. If the mean and variance of the binomial variable x afe 2.4 and 1.44

respectively, find p (1 <x<4). = -
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SECTION - B (5 % 4 = 20)

II. Short answer type questions. Check our youtube channel
Tajs Question Bank — Telugu
For 5—-10 years previous
papers of all subjects

(i) Attempt any five questions.

(i) Each question carries four marks.

2§ __11
11.Show that ——'— = are conjugate to each other.
S (1-2i)° | . , )
/ : ' . . x2+x+]
1\/2. Determine the range of the following expression — 7! x€eR.
- XT—xt

13.Find the sum of all ‘4-digi.t numbers that can be formed using the digits
17 3: 5’ 7’.9- .

104’./Find the number of ways of selecting a cricket team of 11 players from

7 batsmen and 6 bowlers such that there will be at least 5 bowlers in the
team.

/
/

5x+6
+x)(1- -x)’

}6/ If A and B are two events with P(AUB) = 0.65 and P(ANB) = 0.15 then find
the value of P(A°) + P(BY).

X5.Resolve the following fraction into partial fractions:

17 problem in calculus is given to two students A and B whose chances of
olv1ng it are % and — respectlvely Find. the probab111ty of the problem being

solved if both of them try 1ndependently

SECTION - C (5 X 7 = 35)

III. Long Answer type questioné:
(i) - Answer any five questions.

(i) Each question carries seven marks.

. 8/3
.T . T
_ 1+sin—+icos—
18. Sh/ow that one value of 8 8 is—1.
/ . 1+sin” —icos ™
_ 8 - 8
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1\'9/. SBolve the following equation x* ~10x® + 26x% ~10x + 1 = 0,

20.

Y;

\2}/.

If P and Q are the sum of odd terms and the sum of even terms resbectively in
the expansion of (x + a)" then prove that

) P*-Q*= (2 -a?"

(i) 4 PQ = (x+ a)*" -

13+135 1357

If> +
"736 369 36912

(% =a)*",

@ then prove that 9x2 + 24x = 11,

22. Find the mean deviation from the mean for a continuous frequency distribution.
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23/State and prove “Addition theorem on probability”.

%//Fhe range of a random variable- X 840, 1, 2% G1ven that P (x = 0) = 3c3,
P (x=1)=4c —10c?% P (x =2) = Sc 1
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(i) Px < 1), P(1 < x.52), PO < x <3).
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